KW PART NO. 31E03001

PN ‘ DATE: 05/05/95 REV. A

SUPERSEDES: 05/11/92

KYSSR/UWARREN

The Leading Edge Of Technology

INSTALLATION &
"OPERATION
VIANUAL

MODEL: M1A(G)1 M3AG1 M4A(G)1 M5A1
MEAT MERCHANDISERS

THIS REFRIGERATOR CONFORMS TO THE COMMERCIAL

REFRIGERATOR MANUFACTURERS ASSOCIATION HEALTH AND
SANITATION STANDARD.

L
Worldwide Refrigeration

DIVISION OF KYSOR INDUSTRIAL CORPORATION

1600 INDUSTRIAL BLVD., CONYERS, GEORGIA 30207 / 404-483-5600
5201 TRANSPORT BLVD., COLUMBUS, GEORGIA 31907


PAlbright
Stamp

PAlbright
Stamp


Part#31E11012

INSTALLATION & OPERATION MANUAL ADDENDUM
BALLAST RELOCATION

The ballast for this case has been relocated as of January 09, 2006. The advantage of the new location
allows for more shelf space and lowers the BTU. The information we have placed in this addendum is

for the shelf light ballast only. For any other information, refer to the manual or contact our office at 1-
800-866-5596.

Ballast Location/Connections

Ballasts are located in canopy or the raceway. See wiring diagram for layout.

& Canopy Ballast Location

Raceway Ballast Location

Remote Ballast Location (Welded-Canopv)

Light Rail

Ballast

Ballast Cover

Ballast Wire Raceway Harness
Wire Guard /

_!A}“#'@

2/6/2006 1 Addendum — Ballast Relocation



Remote Ballast Location (Drop-Down Canopv)

Canopy Cover

Ballast Access Cover

Ballast
Wire Cover

Grommet Harness

Remote Ballast Location (Canopvless Cases):

Left 4° Section Middle & Right 4" Section
Wiring to Left side of Wiring to Right side of

Raceway Raceway

2/6/2006 2 Addendum — Ballast Relocation



A WARNING! It is imperative that the pins of the bulbs and the shelf power cords be
completely seated in their respective lamp holder or receptacle (see pictures below). If they are
not completely seated, an electrical arc could occur which will cause the lamp holders to melt and
become an electrical hazard. Care must be taken during cleaning, product stocking and re-
lamping processes to insure that the bulbs and shelf cords are not dislodged.

Riuilhe

% Note: The fluorescent bulb is capable of lighting even if the bulb and shelf power cord are not
completely seated.

% Note: The shelf light harness has power interruption circuit and ALL shelves must be plugged in
correctly before any shelf lights will work. The shelf plugs are now located on the right side of each
back panel. (See picture below).

A WARNING! Always disconnect the electrical power at the main disconnect when servicing
or replacing any electrical component. This includes, but is not limited to, such items as fans,
heaters, thermostats and light bulbs. Failure to disconnect the electrical power may result in
personal injury or death.

2/6/2006 3 Addendum — Ballast Relocation



Wiring Diagram

Both Canopy and Raceway

AOWLI0A LSVTIVE SYH J10¥1d3034 JT3HS NOILNYD

MM O AOHYD HI 03I¥O0T 1SvTIvA

FL R

ATMRIIYH V10313
A gLl

___TWE

o1

g g

TraUNJN HIYH aas

EEIHHYH LHHT J1HE ol

KL 15¥T1va

R JIMGHLITT3
—3od
3T

HYdD¥Id LSVI1IVE J473HS T¥dldAl

Addendum — Ballast Relocation

2/6/2006



Wiring Diagram for Canopy Light

e HDIdD OO ASOM ———

_ ama NIVIE
: et | ma 157T1v
.\ - - 3Me —— Wk
||||| —— TS ¥ RO WUDLID
_l LYWy Jqu_m._h.u.ﬂ
| nu....rum.hu_uuh: 1 AVMAEOVE TYIIMLDTTE
_ __Tm '] E!.uuﬂ__ _mq}lomhuuu w___
_ - m ﬁl _ ___ dHan B & .- _
: g " [Ty
_ ; I _ £
" = " 3| g
_ aunm i | _ (= - ..M._
wemp) :
e we_ _ 7.,1
_.m__ _mﬂ_ _ﬂ.ﬂ_ _ﬂ
SIHDIT AJONYD MOH T19HIS wrg 3T v om
Lt ] LE¥TIvE =
ENa]
———— —————— S1H9M AJOH¥D M0d TENDd — -— - — - — e — -
_|_.m__ _ﬂﬂ_ __mﬂ_
_ . L
i ama
_ L) = 1SVTIvE i
| k-l T
_ AT _
i GE] 15YTIvE !
| ™ |
| £ £ |

Addendum — Ballast Relocation

2/6/2006



INSTALLATION AND OPERATING INSTRUCTIONS
FOR
MI1A(G)1l, M3AGl, M4A(G)1l, M51
SELF-SERVICE MEAT CASES

APPLICATION:

The Kysor//Warren single and multi-shelf and self-service meat
cases are designed to merchandise packaged fresh (red) meats and
deli products. These cases should be installed and operated
according to the instructions contained in the manual to insure
proper performance. They are designed for display of products in an
air-conditioned store where temperature and humidity are maintained
at a maximum of 75 degree F dry bulb temperature, 55% relative
humidity, and *minimum of 65 degree F, 35% relative humidity.

*Defrost times may be excessive if temperature and humidity drop
below the minimum noted.

MODEL DESCRIPTION

MlAl Single Deck Meat, Air Defrost, Metal Front

M1AG1 Single Deck Meat, Air Defrost, Glass Front

M3AG1l Multi-Deck Low Profile Meat or Deli, Air Defrost,

Glass Front, Usually two or three Adjustable Shelves

M4Al Multi-Deck Meat or Deli, Air Defrost, Metal Front,
Usually two or three Adjustable Shelves

M4AGl Multi-Deck Meat or Deli, Air Defrost, Glass Front,
©  Usually two or three Adjustable Shelves

M51 Multi-Deck Meat or Deli, Electric Defrost,
Usually three or four Adjustable Shelves



GENERAL

These display refrigerators may be installed individually or in a
continuous line-up consisting of several 8' and 12' sections by
using a joint trim kit. A plexiglass divider kit must be used
between cases operating on different refrigeration systems. Divider
will be factory installed if specified on order.

SHIPPING DAMAGE

All equipment should be examined for shipping damage before and
during unloading. If there is any damage, the carrier should be
notified immediately and an inspection requested. The delivery
receipt must be noted that the equipment was received damaged. If
damage is of a concealed nature you must contact the carrier
immediately or no later than three (3) days following delivery.
A claim must be filed with the carrier by the consignee for all
damages.

NOTE: ALL CLAIMS FOR SHORTAGES MUST BE MADE WITHIN 10 DAYS AFTER
RECEIPT OF SHIPMENT.

LOCATION

This refrigerator must be located on a firmly based floor and
leveled within plus or minus 1/16". Use shims provided to level
your refrigerator.

JOINING

Two or more fixtures of like models can be joined together to
form a continuous line-up. Instructions for joining fixtures are
included in the joint kit. Before lining up refrigerator, inspect
refrigeration lines, electrical connections and controls to insure
refrigerators are in proper line-up and are in the proper sequence.

NOTE: THESE REFRIGERATORS ARE LINED UP AT THE FACTORY AND ARE
NUMBERED. INSURE THEY ARE LINED UP IN THE FIELD IN THE SAME
SEQUENCE NUMBER.

WASTE OUTLET

These cases are equipped with a 1-1/2" FPT waste outlet
connection which terminates in the center of the refrigerator below
the insulated bottom. A 1-1/2" PVC water seal trap is furnished
for field installation.

INSTALLING DRIP PIPE '

Improperly installed drip pipes can seriously effect the
operation of this equipment and result in increased maintenance
costs. Listed below are some general rules for drip pipe
installation.




1. Use the external water seal provided with the equipment. Never
double seal a line.

2. Never use a pipe smaller than the size pipe or water seal
supplied with the equipment.

3. Always provide as much fall as possible in drip pipe. (1" fall
for each 4' of drip pipe.)

4. Avoid long runs in drip pipe which make it impossible to provide
maximum fall in pipe.

5. Provide a drip space between drip pipe and floor drain or sewer
connection.

6. Do not allow drip pipe to come in contact with uninsulated
suction lines, which will cause the condensation from your
refrigerator to freeze.

CLEANING

To insure minimum maintenance cost, cabinet should be thoroughly
emptied and washed out once a month. The exterior should be washed
weekly. A mild soap and water solution is recommended for painted
surfaces of the cabinet. Do not use cleaners containing abrasive
materials which will scratch or dull finish. The waste outlet
should be flushed with water following each cleaning.

CAUTION: BE SURE THAT REFRIGERATION AND ALL ELECTRICAL POWER IS
OFF BEFORE WASHING YOUR REFRIGERATOR.

NOTE: Never introduce water into the fixture faster than the waste
outlet can carry it away. Do not use steam or high pressure
system to clean the case as seals may be broken, which will
cause the case to leak.

When cleaning lighted shelves, wipe down with a wet sponge or
cloth so that water does not enter the light rails. DO NOT USE A
HOSE OR SUBMERGE SHELVES IN WATER.

LOADING
Merchandise should not be placed in the fixture until all
controls have been adjusted and the refrigerator is at proper

temperature.

At no time should the fixture be stocked beyond the load line
or over the front top of adjustable shelves. In doing so, you
will seriously affect the performance, which will result in hlgher
product temperatures and increase operatlng costs.



ELECTRICAL
All field installed wiring must comply with the NATIONAL
ELECTRICAL CODE AND LOCAL CODES.

ELECTRICAL RACEWAY

An electrical raceway is provided with each refrigerator for
running your fan, anti-sweat heaters, and defrost circuits from case
to case without using conduit. This applies, of course, when the
front bumper is properly secured into position. This is an approved
method by the Underwriters' Laboratories; however, wiring must be
run in accordance with local and national electrical codes.

ELECTRICAL CONNECTIONS
All field connections are made in the electrical raceway.

Make sure that proper voltage is supplied to your refrigerator.
Check refrigerator nameplate for fan and anti-sweat volts and
defrost volts. If a canopy is furnished, use a separate fused
circuit. ALL REFRIGERATORS MUST BE GROUNDED.

Fan motors must operate continuously and panel must be marked
sufficiently to prevent the fan motors and anti-sweat heaters from
being turned off accidentally. When refrigerators are multiplexed,
add the total of these amperage values to determine wire size and
circuit protection. Anti-condensate controllers can be used to
control the anti-condensate heater.

On electric defrost models, the defrost heater amperages should
be added together, and if their rating exceeds the defrost time
clock or condensing unit breaker capacity, a defrost relay and
circuit breaker must be employed and furnished by others. Make sure
that proper wire size and branch circuit protection are employed for
safe operation.

Chart #1 shows the electrical ratings for your refrigerator.
This is the same information that appears on your refrigerator
nameplate.

CASE LIGHTING (M3AGl) (M4A(G)1l, M51)
Cases are standard with one row of high output lamps.
Ballasts are located behind the canopy. If lighted shelves are
supplied, ballasts for each shelf will be located behind the lower
?umper assembly in the electrical raceway. See wiring diagram for
ayout. .

REFRIGERATING FAN MOTORS

The fan motors employed are permanently oiled for the life of the
motor and requires no periodic maintenance. They are wired
according to the enclosed wiring diagram and MUST RUN CONTINUOUSLY.

ANTI-SWEAT HEATERS
These heaters are placed in the fixture to eliminate sweat
forming on certain areas of fixture.




EXPANSION VALVE

The expansion valve furnished with your refrigerator has been
sized for maximum coil efficiency. To adjust superheat, place a
thermocouple under the expansion valve bulb. Read the suction line
pressure as near coil as possible. (If at the condensing unit,
estimate suction line loss at 2PSIG.) Convert coil suction pressure
to temperature. The difference between coil temperature and the
thermocouple temperature is superheat. (Use average superheat when
expansion valve is hunting.) Do not set superheat until cases have
pulled down to operating temperature and never open or close valve
over 1/4 turn between adjustments and allow 10 minutes or more
between adjustments. Superheat should be set to 6-8 degree F. To
access the expansion valve, remove the left deck pan when facing the
case.

REFRIGERATION LINES

The refrigeration lines are located under the deck pans on the 8
and 12' cases. A refrigeration outlet is provided in the front
right hand end of the case. Make sure all refrigeration lines lie
as close to the refrigerator bottom so as not to obstruct the air
pattern or block the deck pans. See the section on "Recommended
Piping Practices" for additional details on piping practices.

These 8' and 12' refrigerators have polyurethane foamed-in-place
insulation. In opening a ferrule hole, simply heat a piece of
copper tubing of the same size as the tubing to be employed and
force it through the ferrule hole.

IMPORTANT: SEAL AROUND LINES AFTER CONNECTIONS ARE MADE. KEEP
DIRECT FLAME FROM BOTTOM OF REFRIGERATOR, AS HEAT WILL DISINTEGRATE
THE ALUMINUM BOTTOM AND INSULATION. USE A HEAT SHIELD WHEN WELDING
NEAR THE BOTTOM OF THE CASES.

REFRIGERANT
Expansion valves are supplied for the refrigerant specified on
the original sales order.

HEAT EXCHANGER

Heat exchangers are standard in these refrigerators. They aid
to increase efficiency and reduce frosting and flood-back to
compressor. Heat exchangers may not be used if mechanical sub-
cooling is incorporated in the system design.

OPERATION

On a single condensing unit systems a thermostat should be use
to control temperatures. The thermostat bulb should be mounted in
the discharge air. On parallel units, temperature control can be
provided by EPR valve, thermostat and liquid line *solenoid or solid
state low pressure controls on compressor unit. Chart #2 shows
approximate settings for merchandisers. Since many variables are
present in each installation, such as store temperature, length of
tubing runs, temperature desired in refrigerator, etc., Chart #2 is
only a guide for the installer. *See Chart #2 note 2.



DEHYDRATION OF REFRIGERATION SYSTEMS

Please read carefully before placing system into operation.
After laying refrigerant lines, they should be blown out before
making final connection at fixture or condensing unit. Use dry
nitrogen to prevent any foreign matter being left in the lines.
Keep pressure below 250 pounds. To prevent scaling due to brazing,
dry nitrogen should be allowed to flow through lines while brazing
operations are taking place.

After the refrigeration system has been pressure-tested and
proven leak-free, it is recommended that the system be dehydrated
with a vacuum pump to 1000 microns for the first two ewvacuations and
500 microns on the third. The triple evacuation method requires
evacuating the system three successive times and breaking the first
two vacuums with dry nitrogen. The third vacuum would be broken
with the refrigerant specified for the system.

CAUTION: DURING INSTALLATION AND SERVICE OF THIS EQUIPMENT,
PRECAUTIONS SHOULD BE TAKEN TO PREVENT LOSS OF REFRIGERANT TO
THE ATMOSPHERE.

DEFROST CYCLE

"AIR DEFROST" Models MI1A(G)1l, M3AGl, M4A(G)l - On these model
refrigerators, the evaporator fans run continuously; however,
they reverse the air flow during defrost cycle. 1In defrost, the air
is pulled into the case through the refrigeration discharge grill,
through the ducts, coils, and discharged out the return air duct.

Defrost termination is by bi-metal "fixed" temperature control,
wired in series and set to terminate at 45 degree F on the coil.
See Chart #2 for defrost clock control settings. The defrost cycle
is started by the time clock, which reverses the contacts on the
relay normally installed at the case, causing the evaporator fan
motors to reverse and reverse the air flow to defrost the coils.

NOTE: DO NOT USE PUMP DOWN SYSTEMS WITH AIR DEFROST. ON
PARALLEL. COMPRESSOR SYSTEMS, AN ELECTRIC STOP EPR VALVE OR SOLENOID
IS REQUIRED IN THE SUCTION LINE.

"HOT GAS DEFROST" Models M1A(G)1,M3AG1l,M4A(G)1l,M51 - On hot gas
defrost models, (optional for parallel compressor operation only)
hot gas is routed through the suction line and evaporator coil.

It exits the coil through a by-pass around the expansion valve

and heat exchanger to return to the liquid line where the condensed
liquid is used to feed the other cases on the same parallel unit.
The case fans continue to operate during defrost to warm the drain
pan and air ducts. :

On M1AGl's, an adjustable termination control is used. The
control is located at the left end of the case in the electrical
raceway. Access to the adjustment dial is from under the electrical
raceway. The control bulb is at the same end of the case in the
discharge air stream above the coil.

-6-



On M4AGl's & M51's an adjustable defrost termination control is used
also. The control is located at the left end of the case in the :
canopy light rail. The control bulb is at the same end of the
case in the discharge air stream above the coil.

ELECTRIC DEFROST MODELS - MI1A(G)1l, M3AGl, M4A(G)1l, MS1
When the defrost timer initiates a defrost, the refrigeration
stops, case fans continue to operate in the normal direction and
defrost heaters are energized to clear the coil of frost and ice.
When the coil temperature reaches 55 degrees F (as sensed by a
Thermo Disc on a return bend at the left end of the coil) the
defrost is terminated and the case returns to the refrigeration

cycle.

NOTE: For safety purposes, all electric defrost cases have a
thermal cut-off that de-energizes the heaters at temperatures over
70 degrees F. This safety Thermo Disc is located adjacent to the
defrost terminator.




CHART #1

EVAPORATCR ANTI-COND

FANS HEATER
MODEL _(AMPS) (AMPS)
M1A1-4 .82 ‘ .43
M1Al-6 .82 .61
M1A1-8 .82 .70
M1A1-12 1.64 1.22
M1AGl-4 .82 91
M1AG1l-6 .82 1.11
M1AG1-8 .82 1.07
M1AG1-12 1.64 1.71
M32AG1-6 .37 1.03
M3AG1-8 1.11 .89
M32G1-12 1.48 1.29
M4Al-4 .82 .36
M4A1-6 .82 .53
M4A1-8 2.46 .52
M4A1-12 3.28 .80
M42AG1l-4 .82 .84
M4AG1-6 .82 1.03
M4AG1-8 2.46 .89
M4AG1-12 3.28 1.29
M4A11-8 2.46 .52
M4AL1-12 3.28 .80
M4AIG1-8 2.46 .89
M4ALG1-12 3.28 1.29

LIGHTS
(AMPS)

.39
.46
.74
.80

1.20

1.20

1.60
.80

1.20

1.20

1.60

1.20

1.60

1.20

1.60

DEFROST

(AMPS)
3.3

5.61
7.93
11.54
3.3
5.61
7.93
11.54
5.61
7.93
11.54
3.3
5.61
7.93
11.54
3.3
5.61
7.93
11.54
7.93
11;54
7.93
11.54



M51-8 2.46 .99 1.20 7.93
MS51-12 3.28 1.32 1.60 11.54
For standard shelf light, add .64 amps per shelf.

For shelves with electric ballasts, add .25 for each shelf.



CHART #2
Recommended Control Settings

EPR THERMOSTAT
MODEL REFRIGERANT SETTING CUT-0UT CUT-IN
ALL M1/M3/M4 HCFC-22 37# 22Dg" 26Dg
(+15DgF Evap) HFC-134a 15%
- HFC-404a 494
HFC-507 S51#
M5 HCFC-22 33# 22Dg 26Dg
(+10DgF Evap) HFC-134a 12#
HFC-404a 444
HFC-507 45%
TERMINATION FAIL SAFE SETTING
DEFROST PERIODS (DEGREE-F) (4) (MINUTES)
MODELS FREQUENCY ATR HOT GAS ELEC AIR HOT GAS ELEC
M1A(G)1 3 45 50 55 45 18 30
M4AG1,M3AG1 4 45 50 55 45 18 30
M51 6 — 50 55  -= 18 30

NOTE: (1) A defrost termination control is installed on the coil
of each case and must be wired in series with trip
solenoid on the time clock.

(2) DO NOT USE PUMP DOWN SYSTEMS WITH AIR DEFROST. On
parallel. compressor systems, an electric EPR valve on
solenoid is required in the suction line.

(3) Hot gas models use an adjustable defrost termination
control. (MIA(G)l M4A(G)1l M51)

(4) Temperature is measured in discharge air.

-10-



Description

)1 & M4A(G)1
arts List

M1A(G)1-8 M4A(G)1-8 MIA(G)1-12 M4A(G)1-12 Part No.

Evap Fan Motor (9W Rev)
Evap Fan Blade (8",200P)
(8",300P)

Expansion Valve BFRE-A-C
BFRE-C-C

Defrost Control (Air‘Pef)
Temp Cntrl (opt)

Defrost Relay (Air Def)
Defrost Control (Hot Gas)
Defrost Control (Elec)
Electric Defrost Safety

Honeycomb Grill (M4A(G)1)
(M1A(G)1)

Anti-Sweat Heater
(thermopane)

Back Rail Heater
Honeycomb Heater
Thermopane (Glass)
Thermopane Cap (Glass)
(Glass)
Front Baffle (Glass)
Lamps (Canopy)F40T12N
Ballast (Canopy)2-Lamp
: 1-Lamp
Lamp Holder-Red Wires

Holder-Blue Wires
Lamp Holder-Yellow Wires

1
1

2
2
1

N T

-11-

2
2

L

3
3

B T S S ST SR

DN = W W =

9A10-56
9B10-59
9B10-43

3a11-51
3A20-35

8A11-26
8a11-27
8E11-54
8A11-27
8A11-49
8A11-50

13a15-29
13A15-12

81D10-30
81D11-31

10K12-62
10K12-63

81D10-33
81D11-32

14D10-82
14D10-83

55D19-35
55D21-27

14B10-47
10A10-22

10D10-38
10D10-37

10B11-49
10B11-50
10B11-51



Parts List Cont.

Description

Lamp (Shelf ea.)
Starter (Shelf ea.)

Ballast (Shelf ea.)
External Drain Trap
Deck Pans

Adj Wire Rack

Canopy Joint Trim

Colorband Joint Trim

Glass Models

Front Panel Joint Trim

Glass Models
M4ATL1

Upper Front Panel
Glass Model

Glass Model
Lower Front Panel
Canopy Front Panel
Kickplate (painted)
Colorband Bright

(Non Glass)

Colorband Bright
(Glass)

Canopy/Colorband
Insert (painted)

M1A(G)1-8 M4A(G)1-8 MI1A(G)1-12 M4A(Gl-12 Part No.

>

B e

-

N ey N N

-

-12-

i

Hi e 2 O OV

(S R S

10A10-22
10J12-11
10D10-12
60N11-48
54N18-237
28G19-251
55P18-302

55P12-375
55P12-373

55P10-221
55P10-224
55P10-226

51A12-222
51A12-224
51A14-173
51A14-175
51A12-208
51A14-160

51C14-68
51C12-72

51A14-159
51A12-207

55F14-128
55F12-150

55F12-151
55F14-129

51A34-47
51A34-48



Parts List Cont.

Description

Lamp (Shelf ea.)
Starter (Shelf ea.)
Ballast (Shelf ea.)
External Drain Trap
Deck Pans

Adj. Wire Rack

Canopy Joint Trim
Colorband Joint Trim
Front Panel Joint Trim

Front Panel
Canopy Front Panel
Kickplate (Ptd)
Colorband Bright
Canopy/Colorband
Insert (Ptd)

Evap Fan Motor

Evap Fan Blade

Expansion V1v BFRE-A-C
BFRE-B-C

Honeycomb Grill

Honeycomb Heater

M51 -8

1

N

-13-

M51 -12

N T L.

[

Part Number

10A10-022
10J12-011
10D10-012
60N11-048
54N18-310
28G19-251
55P18-327
55P12-375
55P10-222

51A12-221
51A14-172

51C11-030
51C11-031

51A12-297
51A14-218

55F12-151
55F14-128

51A34-047
51A34-048

09A10-041
09B10-055

03a11-051
03A12-039

13A15-029

10K12-062
lOKl2-063



Parts List Cont.

Description M51 -8 M51 -12 Part Number
Defrost Cntrl (Hot Gas) 1 1 08A11-027
Defrost Cntrl (Elec) 1 1 08A11-049
Electric Def Safety 1 1 08A11-050
Lamps (Canopy) F96T12N 1 10A10-048
Lamps (Canopy) F71T12N 2 10A10-047
Ballast (Cnpy) l-Lamp 1 1 10A10-038
2-Lamp 1 10D10-036
Lamp Hldr-Red Wires Bi-Pin 2 10B11-049
Lamp Hldr-Blu Wires Bi-Pin 2 10B11-050
Lamp Hldr-Yel Wires Bi-Pin 2 10B11-051
Lamp Hldr-HO Male 1 2 10B11-019
Lamp Hldr-HO Female 1 2 10B11-020

-14-



JOINT KIT PARTS LIST

MlAl-M1A1

Description
Nut - 3/8 - 16 Hex SCP
Nut - 3/8 - Hex Head Tee

Washer - 3/8 Lock

Washer - 3/8 Cut

Washer - 3/8 Tee Nut

Bolt - 3/8 - 16 x 2

Sealant - Butyl White

Shim - PC "A"

Shim - PC "B"

Trim - Front Panel Brt

Screw - #8 x 1/2 PH SD Chrome
Trim - Colorband Joint Brt
Screw - #8 x 1/2 PH SD C
Trim - Top Cap Joint Brt
Screw - #8 x 1/2 PH SD Chrome

~15-

Quantity

X S N O T T R T I Y T S

Part Number

19A15-010
19A15-013
19B13-010
19B13-011
19B13-014
20E10-017
29A10-029
54X17-023
54X17-024
55P10-221
21B11-023
55P12-375
21B11-023
55P13-434
21B11-023



JOINT KIT PARTS LIST

-16-

M4A1—M4A;
Description tit Part Number
'Nut - 3/8 - 16 Hex SCP 4 19215-010
Nut - 3/8 - Hex Head Tee 4 19215-013
Washer - 3/8 Lock 4 19B13-010
Washer - 3/8 Cut 4 19B13-011
Washer - 3/8 Tee Nut 4 19B13-014
Bolt - 3/8 - 16 x 2 2 20E10-017
Sealant - Butyl White 2 29210-029
Shim - PC "A" 8 54X17-023
Shim - PC "B" 8 54X17-024
Trim - Front Panel Brt 1 55P10-221
Screw - #8 X 1/2 PH SD Chrome 4 21B11-023
Trim - Colorband Joint Brt 1 55P12-375
Screw - #8 x 1/2 PH SD Chrome 4 21B11-023
Trim - Canopy Front Brt 1 55P18-327
Screw - #8 - 16 x 1/2 2 21B12-031



JOINT KIT PARTS LIST

M51-MS1

Description

Nut - 3/8 - 16 Hex SCP

Nut - 3/8 - Hex Head Tee
Washer - 3/8 Lock

Washer - 3/8 Cut

Washer - 3/8 Tee Nut

Bolt - 3/8 - 16 x 2

Sealant - Butyl White

Shim - PC "A"

Shim - PC "B"

Trim - Front Panel Brt

Screw - #8 x 1/2 PH SD Chrome
Trim - Colorband Joint Brt
Screw - #8 x 1/2 PH SD Chrome
Trim - Canopy Front Brt
Screw - #8 - 16 x 1/2

-17-

tit

Part Number

N = = e = 00 0N R R B e

19A15-010
19a15-013
19B13-010
19B13-011
19B13-014
20E10-017
29A10-029
54X17-023
54X17-024
55P10-220
21B11-023
55P12-375
21B11-023
55P18-327
21B12-031



JOINT KIT PARTS LIST

'M4AL1-M4AL1

Description

Nut - 3/8 - 16 Hex SCP

Nut - 3/8 - Hex Head Tee
Washer - 3/8 Lock

Washer - 3/8 Cut

Washer - 3/8 Tee Nut

Bolt - 3/8 - 16 x 2

Sealant - Butyl White

Shim - PC "A"

Shim - PC "B"

Trim - Front Panel Brt

Screw - #8 x 1/2 PH SD Chrome
Trim - Colorband Joint Brt
Screw - #8 x 1/2 PH SD Chrome
Trim - Canopy Front Brt
Screw - #8 - 16 x 1/2

Quantity

N = e =2 e = 0 0N R e e

-18-

Part Number

19A15-010
19a15-013
19B13-010
19B13-011
19B13-014
20E10-017
29A10-029
54X17-023
54X17-024
55P10-224
21B11-023
55P12-375
21B11-023
55P18-327
21B12-031



~1.

~2.

~3'

~4.

~5.

~6.

~7.

~8.

~9.

10.

RECOMMENDED PIPING PRACTICES FOR CASES

7/25/80
Revised 7/25/85

Proper size refrigeration lines are essential to good
refrigeration performance. Suction lines are more critical than
liquid or discharge lines. Oversized suction lines may prevent
proper oil return to the compressor. Undersized lines can rob
refrigeration capacity and increase operating cost. Consult the
technical manual or legend sheet for proper line sizes.

Refrigeration lines in cases in line-ups can be reduced.
However, the lines should be no smaller than the main trunk
lines in at least 1/3 of the cases and no smaller than one size
above the case lines to the last case. Reductions should not
exceed one line size per case. It is preferred to bring the
main trunk lines in at the center of line-up. Liquid lines on
systems on hot gas defrost must be increased one line size above
the main trunk line for the entire line-up. Individual feed
lines should be at the bottom of the liquid header.

Do not run refrigeration lines from one system through cases on
another system.

Use dry nitrogen in lines during the brazing to prevent scaling
and oxidation.

Insulate suction lines from the cases to the compressor with
3/4" wall thickness Armaflex or equal on low temperature cases
to provide maximum of 65 Degree superheated gas back to the
compressor and prevent condensation in exposed areas. Insulate
suction lines on medium temperature cases with 1/2" thick
insulation in exposed areas to prevent condensate droppage.

Suction and liquid lines should never be taped or soldered
together. Adequate heat exchanger is provided in the case.

Refrigeration lines should never be placed in the ground unless
they are protected against moisture and electrolysis attack.

Always slope suction lines down toward the compressor, 1/2" each
10'. Do not leave dips in the line that would trap oil. '

Provide "P" traps at the bottom of suction line risers, 4' or
longer. Use a double "P" trap for each 20' of risers. "P"
traps should be the same size as the horizontal line. Consult
the technical manual or legend sheet for proper size risers.

Use long radius ells and avoid 45 degree ells.

-19-



11.

12.

13.

14.

15.

RECOMMENDED PIPING PRACTICES FOR CASES (continued)

Provide expansion loops in suction lines on systems on hot gas
defrost. See Engineering Bulletin #85-204-3 for detail.

Strap and support tubing to prevent excessive line vibration and
noise.

Brazing of copper to copper should be with a minimum of 10%
silver. Copper to brass or copper to steel should be with 45%
silver.

Avoid the use of "bull head" tees in suction lines. An example
is where suction gas enters both ends of the tee and exits the
center. This can cause a substantial increase in pressure drop
in the suction lines.

When connecting more than one suction line to a main trunk line,
connect each branch line with an inverted trap.

-20-



Y]

- —— g

e trm—

LINE-UP BOLT
HOLES

APPLY CAULKING
AS INDICATED
W/ DOTTED LINE

.MIA1 CAULKING & LINE-UP BOLT
"DIAGRAM FOR JOINING CASES

-2 -
.,,\ }

o



§Om1{ﬂwx NOIVEHOZHO Y WIHISNUN! vOSAN JO NOISIAKQ
uzuans/ usnsum _ FM%E &ta
- HIAWNN ONIMY YO
B0 ©
-
EALN
2lFE VL] -™M3A Y 3vos
F6/12/0!
. 3uL aiva
A8 ) 3ivOo Q3sSIAIY HILLIT
NOLLO3NNOD ¥O1¥103713
; NO11v01 (1437 YO 1HO1Y dV¥L /M) 137100 .
ALVINOLH LNOHA NOL1I3NNOD N1V¥Q 316VA 38D L TATAL
(38Y2_3Q1SND)
NO1193NNOD zo:éuo_zuu_wx\
(w0g0°901) — .I.I...lllAlllllull.l...lll lllllllll -
09L" 1Y ﬂ = —————————f
«d 8NLS. Y04 <m¢<.*..
(woGQ"69) .. (Wo05°Q¥) 092°61 woBL L6l
0008° 42 (CLL A4} 000g°9¢
| L OO ENRRI I 00022 _ _ _ |
(woQZ"£1) 000" £ .ﬂ.
' M (“°19°pQ)
. 000G 12 |
ere - (WoBL" ¥#2) 09/£'96 . “o9°D
000971 (Wogo™ ZOE) 000G" b1 ~—0009"}

Q0CS 0 Dainr =z

§.2T0¢

-22-




L

O-DE

ot

‘ %x

kj

43 13716

/'_

24

M3AG1




SILICONE SEALANT BEAD

n

L——_‘—_——————_

o
o

O

M3AGT

-24-



(3SYJ 3AISND
NOILJ3NNDD NOILVY39I¥43Y

[1OVEN

(1437 ¥0 1HOIY dYaL/M)
NOILJO3NNOD NIVAQ

NOILJO3NNOD YOI¥13373

8/L

—_—
.wm:xmnhwa d04 Y3V

-~ L
| INOYd 35V0 37
AN N Ay U ————f L]
a/n e [ — T v/ L
I T A I I T ]
(4
8/1 vE 8/1 1€
8/1 22
werz |- dvidd 4SVI

1371n0 3LSVAM
8/€ 96

3svd

/1 vl

-25-



LINE-UP BOLT
HOLES  (UPPER)

APPLY CAULKING
AS INDICATED
W7 DOTTED LINE

MaAl CAULKING & LIME-UP BOLT
DIAGRAM FOR JOINING CASES

LIMNE-UP BOLT
HOLES @LOWER)

-26-



f
]15
%
/‘*‘18.000
74.750 €7
END e

74.000 L

29.938

11.750

~——32.375 ——=

< 43.875 =

MaAT

-27-



E¥

m. LHWWOA Vﬂhll/qm NUHYHOUHO Y WIBLSNON YOS AN O NOISIAI &@
* dv¥
m YIBWNN ONIMYHA -gﬂ-.\,-ﬂllgs F@g —
__ . NMvYHa
213 LAAN-TT=A Y av
Iul %\_N mn_u
A6 31va Q3sIAIY EYITR
|
| i
|
“ ] |
_ _ o Sy m
1 — —
INOY4 3SVD , ,
. { !
NO11VO01 : NOILO3NNOD ¥J1¥10313
AVIIDL INOA (1437 ¥O IMOIY dvML /M) o
NO1.1J3NNOD N1V¥Q 3 »%w%»%%é _ m - ll...m.%uw » )
_ (38v0 3QISNI) . .” |
NO1193NNOD NO11V¥3914343Y . ). __
“ N \ ! 1
| Ny / ) : ] ..a. o
(wogi* i) HIIHHHHH lllllll
00SL LY A <H
wogs bL) wdN 8N1S. ¥04 Y3Y wos* 6
- 0000°«£
(woy2°'g1)000°9 A| ’
— u (wo|9°$Q9) .
000G’ I1C |-
e - (o6.° p¥2) 08LE°96 (wog°£)
0008" 1 —= (Wog0°Z98) 0008° ¥ i ~=— 0008" |

[
¥¥3Y 3SVD -

-28—~

[ Y244+14

-~

000S-0¥ "ONINNNE



79

1/2

1 —
7 3/4 |\ —
: gy gy
4 1/16 — ‘———26 7/16 ————Jis 3/16

43 13/16

21

1/16

MO T

-29- '




r-------ﬁ—-

8.0)
~SILICONE SEALANT BEAD

(]

-~30-

Mol




SO e HSSAN [ D

NIBWNN DONIMYNHO

21+9 S . Nmvuo
2139 L (H)()oa -Man Yy ‘gl Mo

IuL JAVO

A@ | 3iva a3siAIN MBLARTY

.» 1

INOYd 3SVD

(38YJ 3Q18NI1)
NOI1O3NNOD NO11YH391¥43Y

(14371 ¥O 1HOIM dVML /M)

eeaz 21 - \l NOILO3NNOD NIVMG  NOLLO3NNOD .zo::V
IR - LA 1
7 (o9 12) 1 FE== ~8aN-8n18.
(Wogi*111) Y . %eese I...ll.u....lu...lllr lllll —} H Y04 v3uv .
0094°C¥ . (w000 9£) 0000° ¥ | '
| o2y 91)
wepL'00) ) ~ ‘
(wogg* 9Q) . . .
. 0000° I£ . wegsozl) |
0000° ¥ (w099 Q) ‘ |
_ ooom.mm s O 1
woop - yQ) /I
-« 0008°'IC |= 43N0 318VA 38VYD
(wog"£) . (Wo6£°b¥2) 095°96 . (408" D)
800 — v ﬂgonl.aohoe Sdoo"— , . -. - 080 —

dv3y 3SVO

-31-




(AINO 13GON SSY19)
YILVIH INVAONY3IHL

14 '
____lll—.o p

'S TR I U (DR i) I |

‘OVA St

NOUVHOJHOD TMIMISNONI BOSA 30 NOISWO 31va Ad ALIAILDY
USIGHIVAtY SO A {anouas
r6-62—-¢] B3H NMYYO
Ll Ly —8d omo 3v0S [~ T°A38 |__zio¥6 | ‘Nod
w/i 3 | ¥YIHS 3syo/t_|ab3y NMYY¥Q3¥ [ 83H | v6-62-c| z1ov6 | @
- L - ] _oid 8010£-8d NO SYM 'NMY¥Q3Y | vl z6-1-L] 86026 | Y
6cv—-0101% AR L - .mCo NOILdINOS3a A8 iLva ‘ON_NOd | A3
T 19830 dd
1S0¥430 ¥y "ONINIM 3SYJ-9VIQ T
gt ‘e—(as)i(o)vin Zi ‘s ‘0 ‘y—1(9)vis :rans T n 300N NOILVY391¥343Y NI NMOHS 3SVD : 310N ‘dHYRL NOILDIIOHd

b e |

Aov18

_I|/\/\/\/\/\/\<

- BNOJAINOH
Y31V3IH LVIMS-IINY

Xovie g3a8iy

H P AL]
A0v18 a3aeny

‘OVA St IN3IYYNIYIAO0 "XVYN
_.|.I_r|l|‘_ .I'I._I'J
8L £ ¥ 016 s8Il

o P P

L __1_

AYM3IOVY TVOINLD313

AVTE

—3ng

=== -—111
|
38 EBE _

o (2} jo}

3 = |m |
F(((((O -
9 Sy y |
o—iiX |
24 _

3 |
prase amm ese Gvee Saee e 'lll"llllllL

YOLIOYdYD /M ;
,  YOIONW Nvi '

—9

YOLIOVAYD /M
YO1ON Nv4

S3SV)
8 % .9 ‘W

3svo .Ci ]

JLIHM m_

(*1d0)
*INOD'dN3L
(3s14 NO 135019)

o

(3s14 NO 35019)
‘Wy31°430

-32-



T T R 571 | 101 uvans
WS VAN RIS 81/iF | o1 u3nio 300N NOILYY3OINAIY NI NMOHS 3SVD : 3ION -dNY8 1 . NOILDILONd
Q3A0NddY
-— HIGNNN par- 1 pue T ‘OVA Si ANIWYNOYUIAO °XYN
BavEY mn_e..z_ulummm . :z.em._mL L_owse oo ———_
V| $8L-0101% ™ B ] T - ' 8L €7 ol6  eiLl !
— e o4 ] q q o I q
1508330 UiV 'ONINIM_ ISYO-AVEOVIa /N m& __ R N4 B TR IS P, i I R 1
«—00|ﬂ§": TL 8 8 Y—I{OXNVVIN E
NOILdINOS30 A8 3iva ‘ON_NOd ,I>m.xl
310N B0ilovdv9/M, 3AOR3E] &3 | ve-8-8 | 3nseiw | v r--FF--——-—---- ~4-F=-tt1----- B i 7
] I
(AINO 300N SSY19 | z £ !
HILVIH INVJOMNIHL ~ ] i 5 ]
_ yovig | “
Yovia algan |
| . : |
BNOJAINOH I 9 mt I
HILVIH LVIMS—IINV i e—ir I
LA Lo e d _
Xovia aean | R “
| — ] - - ————— i (Y SR S R N |
AVMIOVY TvOI19313
" B == | - .
— ] ] . [ ) — P ™M
! : m WOV T, 1 _
' | - [ P - L (‘Ldo)
_ | ' ) ' )| 1 " _ ETUIT *INOD'dN3L
! @ _ m m ! (3siy NO 350719)
] )
] 1
| " “ | |11
_ _ | ! V]
| ] ' . { () . W»
— ) ) — — | I ] — - .
" | | ; AN
_ HOLOM Nvd , UHOION Nvd |, NOION Nvi YOLON Nv4 N _ (3S14 NO 35012)
3svD 2L ! 3SYO .8 | 3SVYO 9 3SVO ¥ ' ‘NY3L°430
“ _l =T Lu_ "

L e = | [Cez=01o1s]




HOLON NV4

HOLON N3
IsVo B

HOLON Nvd

HO1ON Nv4

™ HOUVHORI00 WRSTION WOSIN J0_NOGIAK T5/1F | 101 MVIHS
E@Eﬁ@%ﬂ 91/1%_| ol uanio |
03A0NddY

69V Sy —HBd YIMNIE-oT=eTaIn | Navaa : ‘Y81 NOILD310¥d

ONIMYYG iora] W5 300N NOILVY3IOINA3Y NI NMOHS 3SVD ¢ 3ION INJHENONIAD “XYN

V | ¥8L—0101 g ¥00H 36v9/1 | 063 ] ‘OVA §11__ ‘OVA 0SZ "OYA i1 ——

. —INON |HSINU | o e e e =

isouii0 Svo ioH ¥ o_Euﬁu_ 7.AVN | [/ i e ¢ r s ol 8 gLl |

"310A0 430 'ONINIM_3SVI-RVEOVIO| 3NYI4 .__ s | i

|zt 8 o-1lojven "zi 8 9 r-1{oXV)vrn| ET] e [y NP I R [ U PENSRO B S
NOILdIHOE30 A8 | 3ivo_| "ON Npd [A3M
oLNS 738 @3k | ve-8-8 | Inskid | ¥

(AINO_9300N SSY19 =TT T T T T T T I I r -

¥ALYIH INVJONN3H [ I

yovia__ | Lm m !

_ Wovia aisan | !

BMODAINOH _ £ !

¥ILYIH 1VIMS—ILNY | 3 m |

_I||/>)\(/>\< v " " “

%ov18 alealy "

1 I

J | I

: S _

1YNOI1dO) e evisnbrvinnioniwndaniaden i bt safondoniondondis fn Andienind ol o 4

¥3LvaH ISON43a DI¥LOTI A33vs AVMIDVY TVOILOT1I
_‘ | I _ L
1 T

*INOD'dN3L
(3si4 NO 3S071D)

(*1d0)

8.

(3si4 NO 35010)

_vw\.lo_o-n

*NY3L°430




FOIVHIGHO) MNISIONY WIWAX KD HOT IAK) VAN 104 ¥V NS
(WS WIYIMAZ WRANI [ 91/i5 [ o1 wiwilo
LTTY¥—8d 2ol e ‘SNLY¥VddY "AOZ! ¥04 3SN LON 0
ININYHD 80176] Nod] "IOVLIIOA LSV1IvE SVH 310V1d303¥ J13HS :NOILNVD
6G8—0 1D g ¥3ennN /1] 0.038
A 18vd HSING
T1-1 1SYTIv@ 310M3¥ DJILINOYA Y8
MOY € J1IHS ONWIM - 9VIf IV
1OXVEN C1OVEN | 334 ]
AVM3IOVY 1VvOI1y¥10313
- o L L L T e e T e S oL e L L L L e T L L T T =, T L L L e T e e -
_'_Iﬁ %oV %ovia ._. Wovia HL.
.“ JLIHM J1IHM TR \_ , _.l JLHM TR |\_ I
'
1 1SY1ve _.L 1sv1ive 1svi1ive 1Sv1ive ] 1sv1iva _ 1Sv1iva 1synve | : 1synve “ _
N 6 8 9 f! S 2 | 3 x_ z i h
| ne na ' nla TR
i me e 3ma ._
1 _ I
] 1]
— \ Y " _—
| 4 y 3 L
"rlllllllll!i.-.w T T T T ST T T T T T 14-.... |ll||lll+llllllll|.. .-.....u...lllllll..."
— — [] —
T T ' T _
° ' ° ° | 3ovid303
" . . Vo . L5 mon aams “
]
- | - ., |
1) () o o
! ] | S “ z _
“ ] | l_ _ 7 "
_ L e X ! _
' o ] “ ] o o o \
! e - — - - SISO 4 ¥ — - —— - - —
_ L s3svo 14 8/9 !1--.!!--l--l--l--]-nll-»[--ll-u
e - — S3SVYD L4 N..|..v|||||...|l..|||||....|.lu|||l..|||||xl||||1|.|ls||||...||||||..|||.||||....ll||..l.|l..

[1k}]

I1HM

-35-

_mmmlo_o_..,




NOHYHOI ) z_zl—f.ﬂ_z_ HUSAY U MO ﬁf\— ] _C.P ¢<o=.v
WS/ RGN _s1/ts [ 101 a3nio
g 03A08ddY

8¢ccvvy—8d czu;:xa v6/52/9] VL]  NMVHO

- — 80176]  Nod

- /1] 0,038

A3 098-0101¢ v 0.034
Ti—1 1SYTIva 310134 JILINOYN e
MOY # JI13IHS ONIBNIM - 9VIO 1AV

1(9)sn 43y |

‘'SNLVYVddY "A0Z1 Y04 3SN LON 00

‘JOVIT0A ISVT1IVE SYH 370V1d3034 J13HS :NOUNVD

AVM3OVY 1vOIy10313

UMM
_\_ G<:<a_,| | 1symve
i

1sv1iva 1Sv1ve
I1INM

—]

JUHM
—H‘ 1svive _ 1synmve
4

_.ll..ll S3SYD 14 Ti

!
'
_ o
[} |
'
| :
!
) |
| 0
]

]
|
|
: | —
@ 2 a I
X x “ _
= | = _
| _ | , | g
] _ ]
: I
e - G — - — — o Soaen s | wman [ S S U U . — - —— e | ) -t d -t b ——
TN i )
m mlw _ = a3y
! mm_ - um T ETUTTT
4 _ S| 8 ' =y v _
o [ o o 1 [ 0 _
1 X L1 [ .
o ] L] [.] '
L _ L ! £ _
[ ! — 1] Ll !
c... _ 9 | z 310v1d30 _
° \ ° ° o o] 1HIOIN 413HS
| 1 X — | | X — 11 "
L] _ o ] [
6 ! S ! _
(] ' o L] (] (] "
L _swwouefo— . __S¥WU ...IIHI..,I.M_

-36-

_owmlo—oI




MOTI3A

1sv1ive

1sv1ive

ILHM

Xvia _

NOHYHOIH0) TVIIISOONI HOSAX JO HOISWAK) Nﬂ\— 1 101 ¥VIHS o e e SAAY L OML/M NOILJO THONT ISON - cemme =0 =
WS/ ERESAI[ 91715 01 s3nio g .
p— Q3IA0¥ddY i
¢cecvvy—8d c,ru.ino v6/52/9] 1]  NMvHQ
” 80176] NOd : m_ _ _m
G98-01D g ¥38nm 13/1] G.03¥
L 18vd) HSINIJ ! | [
MNY18
MOY¥/dNV1 | S197 AdND INYM-9VIQ TIVA nig
SIS 0052 | I3y
—_— dnYy1 INO/M NOILJO 1HON 3SON
|
|
: o3y
na
VA Si
AYMIOYY YOI O >_ st
.__T S O.II_
ONILHOIT J13HS Ol
a3y
-— [
J1IHM
g (%
S| |+
. =
Q3 x
e Aovie a3 S
1Sv1Iva 5 h\\LHw &
JIHA )
SIHIN AJONYD MOY 318n00 - = - = _
| |
! a3y _
N8 1SY1ve Ave —

JLHM

—— ONIIM 11NdS TYNOILJO —

T

ONILHIN
413HS oL

e

IVA St

n
L]

L
AVM3Z

Tv21¥13373

TT)IOYIS H100NS

31K

]
|

_mmwlo_o_m

-37-



et 1]

ane

NOILdO LHOIN 3ISON

MOT13A

a3y

1Sviiva LIH

Z._:.—<~"r‘_;..~ MHISIKIRE JOSA S ’_.Z»._IS:_ &V\- ] _C._. ¢<h:V
WEIMEIMIUILZ MR s1/17 [ 01 u3nio
o— 03A0YddY
vyecvvy—-8d oﬂu.uino v6/52/9] wi]  NmvEU
-~ 801v6] NOd
- ELLUL /1] a.03y
A 998-0101¢ e ol
NNY18
MOY/dMYT T S191 AJND ONHM-OVIQ N7, |
| 33y ]
1"
AYMIIVY YOI¥10373 o<>_ s
i 1]
ONILHON 413HS OL
a3y
-— 0
ETUT)
T
MOTIIA e
xS €
ﬂ_ BEE
™
8.._ [ 03y
ame AL we— i ]|

ILHM )

S1IHON AJONYD MOY¥ 318n0Q - — —_— -

—— ONIIM 1NdS TYNOILdO —

JYA GiI
—_—= J I
_In S 9 m |
it | 2
_ |
[ 13
—' |._ % |
ONILHON
A3HS ol |
—— |
H
gl |%
x| |5
wf |7 |
S
3] I
(=1
_— ]

_wwmlo_o:




NOUYHOGHU)  IVHESTHNE O AR 10 HO AR MYAN] _ 0L UVIHS
WS¥IMIMIAN/MRASAZI [ s1 /17| o1 u3mo S = e NOILDO LHOIT 3SON =ooom - o e e s o ag g
03A0¥ddV 8y T
¥38nNN iy
SECYV—8d jmyue| 185278 ﬁn:; z;uwm == m._J%_ | e __W—_
¥I8NNN ——— B
aqu| £98—0101¢ vaanow i/ [ G0 - m— ol =
MOY¥/SINVT € SIT AdND ONN¥M-9YIO ANYIS .—.m<|_.._<m M8 .—m<.:<m LIHM T
- T 4YN Py
SIWIS 0052 [ YET] e J Xov1g VI ][ _ _
JLHM
JVA St
__:lﬂwzxu.ué WD Eou._mr_
9
e 11
ONILHON
u._u:ml.mh_. _ g3y \
J1HM {
__m_ ¢
. ‘ MOTI3A ]
1] 2 |
—ONI¥IM 11dS TYNOILJO L o g
IVA SIt 1Sviiva niae 1Sv1ive JL\I_HW
L.I_u_ q e .l_ xovie__] |
9 M
| .___ _ ‘ _m | — — —- - — — —— SI1HIIT AdONYD MOy 318N0Q0 ——— — - - -
| z
_ q ROTTIX
_ _m W
= ] ;
| W U P! [ a3y a3y [ - |
I onnon ! 1 1sviive ame 1sv1iva - mw I
313HS OL _ MOTIIA piiod ] g_
- ILIAM
| 4 ! e nag 1Sv1iva |
gl |2 ! o [ I
| HBE | |
o
m [ %@
”@G“ MO3A

-39~

_nmwlc_o ¥




-~ AJONYD O1

."_l"

fr=r

AVYHOVIA ISYTIVE 413HS TYOIdAL — ~ -

dAV1 8-—-1

A8

kLY
ond

JHON 413HS

~

1svTiva
JINONLD33

- ——

E@% $17r% Tl o LT0A 3NIT 473HS
91/1F | 0L ¥3HIO AOZ 1 SI 39VIT0A K|
v0Zvv-ad e.“.uu_u.lalnm Taei/el] WL “__”M;M.&._Hm ._ullbzo N.IIJ _I..n 5/ ollJ q.lla uadedd ><>G_wn<~wmm..\_,@m.._...n_md
1G8-01J|g Wwmnnw 14/1 [ 0,638 | T . 9o
T LT | || | | g
413HS NO "8°3 ONRIIM — AVNOVIO T4YN | [ [ |
SINIS _005T 33y | _ = _ _ = _ _ = _
leuf@ 11 & 1 @ m
_T ||||||||| _— —_t A ...I.ﬁ. 3
_llnv-lllzo.to .“5; 5..7_ _“;2 onE @W _lml mcw a" ml @ "_ z
| — s - -EFF—{-}—--FEE -] ;
e e ¥ ° b ° ' o " ©
T T NI RINEN .
i _Il_._..T...,. T i
o
EeeNN-NN-1
~=-§TVOUIOJY_3HS - - — - — - -- L -
I [T 1 |
..;ozx»c@ N Q Im wll. Q 1 py

HOLIMS ONY

- AdONYD Ol

T

_—mnlc-o_.n




RO YHOAH0) gz_ﬂwz HOSAN 3O NOISWU Nm\— ] 101 HVIHS
WS RS [ si7vs | ot swito [ i e
Q3A0¥ddY S Gt —
0L PP —8d 0N I567iz70] vi| _nmvag _ { _
80LY6 NOd H — .
a[ €98-01018 M e s ><>>uo<m.om_><w__w:.ou._u | o L1svrive [ |
WNYI8 r———""=- | " —— ILIHM “
83 MO¥/11 | 11 AJND ONUM-DVIQ TIVA | G 9 | Lo e T .. J.
“SIWIS _00ST I 33y .__ o o |
IR S I |
(7]
T
S| |=
| [
s}
w m
&
R
S1HON
413HS o1 a3y
————
J1IHM
—n ..... -~ ONIIM LINdS TYNOILJO l..l_
_ ) | AVMIOVY TVOIN10313|
— : ——AS
a3y u ! __. S -“ |
a3y _|| AL SN _ .__TJ_W ] m
1Sviivsa _ " -] = =}]=d
mmﬂﬂ. 31IHM _ “
| |
[ — SIHOM AJONVD MOY J1BNOQ —--—ne e e — .. 1 _ £ _
' H i bt i
: ' S1HON ] .
I ( _MM | _uduzm o1 03 | ) m m
“ u ———— - ™ —
| UL 03y [ _ I1THM S :
' - L yove [ ! - Q _
| 9 1SV1IvE — _ _ m
¢ 3LIHM : S1HON
| ( | ' AJONYD 01 “
! e ' [ —— _“ _
) D | | |

_walo_o_¢

-41-~



NOUYHUSHU Y IVIHISTHIND HOSAY R NOISWK]

/0 T10L ¥V IHS
ﬁew@@u@v%m%g 91/1% | 101 ¥3H10 _ _.._:. e .I_JJ:I:! NOILJO LHOIN 3SON —--— .-
Q3A0¥ddY  S— — — ] !
LS Ty —8d B ve7zz/s] 1| NMviG _ Ty _f_ _
80176 NJd H .
- y3ennn 14/1] 0.038 i _ g b0l
ay| $98-01018 v HSINI3 _ 3 1sv1ive !
. NYI8 :
83 MOU/S11 Z AJND ONEM - OVI0 ﬂ;<x Lo mmuw-uu:ll.:lz-un:wwqe 1
33035 005t ! 3y, AYM3IOVY VOIN1D313
“OVA S
F=—————q
1 sol
___Tf _
(AP A
(7]
k<
3| |=
I |z
o |M
&
?
SIHON
s o = 1NdS VNO
e — --— ONIMIM 1 VNOILdO
C (T e _mﬂ 3ILHM _n J
4 3ma | AVM3IOVY VOIN10313|
a3y | : ‘OVA S| .
- _ wovie [ | i ———=——=-- a il
1SY1IvE | _ co |
Ime ILIHM _.; lllllFlL_
............................. — SIHOIT AdONYD MOY 318N00 — - s e e e e e i _
N 7 “ _
m ﬂ. 1 T ¢ _ﬂ : [ _
' ang " “
— ! ¢ !
_ a3y —ll ¥ov18 m S1HON W £ w
| 1Sv1ivae t 13HS o1 93Y | N E
: ILHM ; —— -
i i = e g [
: e _ S _
“ 3y ._.W<|_.._<m “ S1HON m
_ _ Hove _ i Monvd ol |
I h D e mr._ _ ! —[ "
v ( ) [ ) '
| UL e i Lo J

_mmwlo_o I

19



HOUVHOGHO)D  IMHISIKINE HOSAN 0 NOIWAKI s/ 4 101 ¥V INS
E@@EE@gﬁmwdE‘_ 51705 | or wnio]| [ , S - : :_ NOILdO IH9IT ISON 1-..~.-- - B
Q3A0Y¥ddY H SO A | ( [ ..__. - e e e o :,;; —
CE Vv —8d YnNrerTel Wil nmvaa _ y |4 p
Mzu_“,.u”n g0iv6] Nod| ! _
Ay ¥98-0101¢ 1y4vd 1zt %W_OZU_N “ a3y Jng 1SV 1vE A9Y18 )
HNV18 _l 3ne ILIHM L
83 MOY¥/S11 € AdND ON¥M - 9VIQ LV | T T e e .
SIINIS 0067 4] - ONWIM LIS TYNOILO —
| AVM3IDVY T¥OId10313 ]| AVM3OVY IVOI¥10313
m r-——=== = | Fm—— 202,
' | S9 I I
|l <] | | ol
w - I.NT.M _ b e e ] 1
©SIHON sl |™ g
| :13Hs o1 03 S | S
H —— T : T M
| EJIITS w _ x E
H S1HON > : m
| AdONYD 01 = | 5
: - ! =
S1HON
Lo T J 413HS oL a3y
g —
1AM
( ) ( _aﬁwrl _mw
a3y
ang 308 LSAAL e ] T@
a3y 1sv1ive ikt
Ina ILHM m MM
] ]
I — — SLHOI AdONYD MOY I1BNOQ —--—--s e e e e e F—-— T_
m C Jeoozooozooooooomzmooooooos 30T Jezzozoozozzzooozoooooonc 301 Jezszzzzozozozoioooooooooos 3] m ! _
lllllllllllllllllllllllllllllllllllllllll R e ke e TIPS S ——— | H H
H ' .
| ,w wn-m ............................. JW\R presmmmmmsmmsmeos y | o
; ! ! : 13ma ] (I
] i ! e lce-= ove___ '
_ “r e a3 y ..H..n..nwwwu..nn.... 1Sv1ve --{-!n_ ...... H _
| CTTTTTTTTTTTTTTTTTTTT T ST 38 3LIHM |

-43-

_vmm|o~o$




IN THE CONSTANT EFFORT TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO CHANGE AT ANY
TIME SPECIFICATIONS, DESIGN, OR PRICES WITHOUT INCURRING OBLIGATION.

/UUJARREN

DIVISION OF KYSOR INDUSTRIAL CORPORATION

P.0. Box C

1600 Industrial Blvd.
Conyers, Georgia 30207
404 483-5600

ONE-YEAR WARRANTY

KYSOR/WARREN warrants to the original purchaser this new equipment and all parts thereof, to be free from defects
in material and workmanship under normal use and service. If any part or parts of the equipment should prove
defective during the period of one year from installation date (not to exceed one year and thirty days from the date of
original shipment from the factory), KYSOR/WARREN hereby guarantees to replace or repair, without charge (F.O.B.
CONYERS, GEORGIA), such part or parts as prove defective, and which KYSOR/WARREN’s examination discloses
to its satisfaction to be thus defective, with a new or functionally operative part. The liability of KYSOR/WARREN under
this warranty shall be limited to claims made by the original purchaser to KYSOR/WARREN or its local distributor
within the warranty period.

GLAZING: Glass is not guaranteed against breakage. If this refrigerator is equipped with a glazing assembly carrying
the manufacturer’s brand name (Thermopane, Twindow, etc.), the manufacturer’s glazing warranty in effect at the time
of this shipment is extended to that assembly. It is void outside the continential United States.

THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESSED, IMPLIED OR STATUTORY, IN-
CLUDING, BUT.NOT LIMITED TO ANY WARRANTY OF MERCHANTABILITY OR FITNESS, AND ALL OTHER
OBLIGATIONS OR LIABILITIES OF KYSOR/WARREN.

THIS WARRANTY SHALL NOT APPLY:
. To the condensing unit used with refrigerated equipment unless same was sold and shipped by KYSOR/WARREN.

. When this equipment or any part thereof is damaged by fire, flood, act of God, or when the original model and serial—
- number plate has been altered, defaced, or removed.

. When this equipment or any part thereof is subject to accident, alteration, abuse, misuse, tampering, operation on
low or improper voltages, or is put to a use other than recommended by KYSOR/WARREN.

. When this equipment or any part thereof is damaged, or when operation is impaired, due to failure to follow installa-
tion manual (improper installation is the responsibility of the installer).

. Outside the continental United States.

. To labor cost for replacement of parts, or for freight or shipping expenses.

. If the Warranty holder fails to comply with all the provisions, terms and conditions of this Warranty.

Parts replaced under this Warranty are warranted only through the remainder of the original Warranty. KYSOR/
WARREN may, at its option and in its discretion, elect to honor this Warranty and to disregard the original purchaser’s

noncompliance with any of the provisions, terms and conditions of this Warranty.

THIS WARRANTY DOES NOT COVER CONSEQUENTIAL DAMAGES.

KYSOR/WARREN shall not be liable under any circumstances for any consequential damages, including loss of profits,
additional labor costs, loss of refrigerant or food products, or injury to person or property caused by defective material
or parts or for any delay in the performance of this Warranty due to causes beyond its control. The foregoing shall con-

stitute the sole and exclusive remedy of any purchaser and the sole and exclusive liability of KYSOR/WARREN in con-
nection with this product.




